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QUESTION 1

You are the WebCenter Spaces Administrator and want to modify the "Marketing" Group Spaces to control which pages
are visible to participants of this Group Space.

What do you select under the Page Actions option?
A. Edit Page

B. Rename Page

C. Create Page

D. Manage Pages

E. Move Page

Correct Answer: D

QUESTION 2

Identify two roles offered out of the box in WebCenter Group Spaces.
A. Moderator

B. Publisher

C. Participant

D. Space Owner

E. Archiver

Correct Answer: AC

QUESTION 3

In WebCenter framework, which is the caching mechanism supported by JSR-168 portlets?
A. Expiry-based caching

B. Validation-based caching

C.Both Aand B

D. None
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Correct Answer: A

QUESTION 4

Which is the protocol used by JSR 168 portlets deployed to the Oracle Portlet Container?
A.HTTP

B. SOAP over HTTP

C. WSRP1.0/WSRP2.0

D. None

Correct Answer: C

QUESTION 5

Each Oracle WebLogic Server domain must have one server instance that acts as
A. an OC4J Server

B. an Administration Server

C. a Managed Server

D. J2EE

Correct Answer: B
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